| 3cm

| 3cm

AABEXS

WSS R DR

qp

5cm

53 @)

_Tem

5cm

<FREH>

6X5%X13=390
6X7TX5=210
390+210=600 cn

(3)

5cm

. Tem

(2)

| 3cm

5cm

O (1)~)IIRLILHTT ARIBEEIBYDHETKDELL), (4) ITFERAETKDBILL),

~Tem

5cm

<EREH>

6X5X8=240
6X12x5=360
240+360=600 cni

(4)

5cm

| 2cm

6cm

8cm-=

-bem_

5cm

<EREH>

6X12X13=936
6X7TxX8=336
936-336=600 cni

<FREH>

8X6X12=576
8X5X5=200
576+200=776 cn

INFEZFBT) > bE P32~ A K ILg (https://startoo. co/sutapen/)



https://startoo.co/sutapen/
https://startoo.co/sutapen/

